ORGANIC CHEMISTRY FALL 2013, LANEY COLLEGE

CHEM 12B (L1/L1L) INSTRUCTOR: S. CORLETT
Exam 1 (175 points) Page 1 of 7
Name [doy,

0



ORGANIC CHEMISTRY FALL 2013, LANEY COLLEGE

CHEM 12B (L1/L1L) INSTRUCTOR: S. CORLETT
Exam 1 (175 points) Page 2 of 7
i Show the product (or products) from the autooxidation of diisopropyl ether. (10 points)
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2. Explain why the mixture is obtained in the following halogenation reaction. (10 points)
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3. For the reaction in Question 2, given that AH for 2-chloropropane and 1-chloropropane are -127 kJ/mol dr
and -118 kJ/mol, respectively, suggest whether the reaction is spontaneous as written (Hint: both alkyl

chlorides are liquids at room temperature) (10 points)
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4. Show the complete mechanism of the anti-Markovnikov addition shown below. (10 points)
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5. Show all of the products from the following reaction and be very clear about the stereochemistry of the

possible products.
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6. Show how to make the following compounds from the given starting materials. Some of the

transformations require more than one step. (20 points)
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9. For the following diagram of reactions, fill in the reagents necessary to accomplish each transformation

(some of them require more than one step — be sure to use 1. reagent 1, 2. reagent 2, etc. format when
necessary). You do not need to show any intermediates. Transformation e is possibly the most
challenging.

Fill in your answers here: ' (55 points)
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10.  CHALLENGE PROBLEM. Show how to transform acetylene to the product using only acetylene as the
source of carbon. (10 points)
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